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Name: __________________________________



1
If a sequence is defined recursively by [image: image1.png]


 and [image: image2.png]


 for [image: image3.png]


, then [image: image4.png]


 is equal to

	1)
	1

	2)
	[image: image5.png]-11





	3)
	5

	4)
	17



2
If [image: image6.png]


 and [image: image7.png]


, then [image: image8.png]



	1)
	[image: image9.png]




	2)
	11

	3)
	21

	4)
	43



3
Given the function [image: image10.png]


 defined by the following:

[image: image11.png]



Which set could represent the range of the function?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]{-8,-42,-208,1042, ..}





	4)
	[image: image15.png]{-10,50,-250,1250,.. .}
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3
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2
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;  [image: image19.png]


;  [image: image20.png]


;  [image: image21.png]
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